The Gaffney Quantum Leap»’E‘ffect

by Fred Foldvary

In economics, the waste of resources caused
by a tax has two names. One is the “deadweight
loss,” a loss to the economy with no offsetting
gain The other name is the “excess burden,”
since the burden on the economy is in addltlon
to or in excess of the tax payment.

For example, suppose a bookstore has 20
employees, and has to pay taxes on the payroll
as well as sales taxes on the books and taxes
on its profits. These expenses are on top of

the .costs of the inputs that would be there

aside from the taxes: the labor, the space, the
books, and shelves. The store has to add the
tax expense to the input expense, and pass
the tax on to the customers. The higher price
of books paid by the customers makes them
buy fewer books, so the books that would have
been produced and sold and enjoyed do not
get made. This is a waste of resources, as the
customers will shift to less valued uses for their
incomes. The overall deadweight loss reduces
production, investment, and economic growth.

The amount of deadweight loss depends on how

responsive the customers are to the change to
a higher price. If they cut back a lot on their
book purchases, then there is a greater excess
burden. The overall excess burden of taxation

in the USA has been estimated at about $1.5
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trillion dollars, more than 10 percent of total
output. So roughly, our standard of living would
be ten percent higher if the deadwelght loss
were eliminated.

But thls loss occurs every year,. so if there had
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been no excess burden during the past several .

decades, the economy would have grown faster
and would now be twice as high per capita as it

is now. So the cumulative damage from excess

burdens is huge.

Geoclassical economist Mason Gaffney has dis-
covered that the excess burden is even worse,
much greater than the effect from higher prices.
People can buy books from catalogs and World
Wide Web sites. When there is a global price for
a book, the local seller cannot raise the price,
since buyers will shop elsewhere. The taxes
come out of his profit, and if profit becomes less
than normal, the owner shuts down the firm.

The land won't remain empty, as the use

‘would shift to something else, possibly a use

that generates less output and employment.
Suppose a gas station replaces the book store,
and with self service, requires only one worker
instead of the 20 who worked at the book store.
Since one can't buy gas from far away places,
the tax on the gasoline can be passed on to the
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.. customers.

The 19 workers who lost their jobs would have
paid taxes, so that revenue is now lost to the
government. Those workers would have bought
goods, now they have moved away, so there is
less business in the area. The bookstore would
have generated a greater market value of
services than the gas station, and more taxes,
so there has been a great reduction in output
and taxes due to a shift in land use.

That is the Gaffney quantum leap effect.

Possibly a firm that generates a high output but
~ also has high costs is replaced by a firm that has
- much less output and employment, but a higher
profit per item, so even if both firms cannot pass
on the tax, the second firm with the higher profit
will use the land. There is a quantum leap down
to much less production, because the land use
_has shifted to one which has less output.

Quantum mechanics is a branch. of physics
that studies units of energy called “quanta.”
The amounts of energy in a particle such as
a photon of light have particular numerical
values rather than a continuum. The quantum
effect in physics is a leap from one energy
state to another, as when electrons jump to
-another orbital shell around an atom. Gaffney
has adopted the quantum term in physics as an
. -economic analogy when one land use replaces
another, and there is a huge j Jump or fall in pro-
duction.

The loss of production due to quantum leap
effectsis unknowable, but most likely enormous,
and increasing. Any shift from market-based
output to punitive-tax-induced output will be
to a less valued and less productive use. In a
global economy, goods sold world-wide impose
a market price ceiling, making it impossible to
pass on tax costs to the buyers. The taxes eat
into profits, and those enterprises with lower
profit margins get squeezed out. This could be
happening on a colossal scale.

Taxes on gross revenues are especially destruc-
tive, as they squeeze out the profit more than
taxes on income, which is gains minus costs.
With taxes on gross revenue,. costs are irrele-

vant to the tax. Sales taxes are on gross income,
which makes sales taxes much more destructive
than income taxes, due to the greater-quantum
leap effects.

But taxes on income also have quantum leap -

effects, since if a firm was only maklng normal
profit before taxes, and it can't raise prices, the
tax will squeeze profits below normal, and the
firm shuts down. Only if the land rent the firm

‘pays gets also reduced can the firm survive.

Thus with quantum leap effects, much of the tax

is at the expense of land rent, since reduced prof-
|tab|I|ty generates less land rent. The reduction
in rent depends on how much of added cost

'Vthey can pass on to customers and workers.
The income tax also falls on wages to the extent

that workers worldwide are not perfectly mobile,
as they indeed are not.

The only way to eliminate the Gaffney -
quantum leap éffect is to directly tax rent
instead of indirectly taxing it via taxes on
revenue and profits. A shift to land-value
taxation would therefore not just eliminate
the deadweight losses caused by a reduction
of the quantity of goods produced, but also
the much greater quantum losses due to
shifts to less productive products.

With the elimination of taxes on wages, sales,
buildings, and entrepreneurial
economy would take a quantum leap up to

dazzling. productivity. The demand for-labor

would surge and wages would jump to now un-
imaginable levels.

That’s quantum economics, not as difficult as
the quantum mechanics of physics, but also far
from obvious. The Gaffney quantum leap effect
is the feather in the Georgist hat and should be

taught in any enlightened economics course.

Thanks to Mason Gaffney, the theory of the
excess burden of taxation has now taken a

-quantum leap beyond those little triangles in

graphs that economic textbooks show as the
deadweight loss. We need to think big! Gaffney
has given us a quantumleap to greater economic
understanding!
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